z = x + v, r=|z|=\/x2—|—y2,

x =1rCcosf,y =rsiné,
60 = arctan(y/xz)+kn according to the quadrant

2z = r(cosf +isin ) = ret?.

Multiplication and Division in Polar Form

01

21 =111, 25 = rpet?2

i(014+02) 21 _ T1,i(01-02)
<2 r2

Z1<D — T1rope

De Moivre’'s Formula

2" = (r(cosf +isinf))"” = r"*(cosnb + isin nd)



Equation w" = z = r(cosf + isinf) has n so-
lutions

wy, = Y/7(cos(0 + 2pk) /n + isin(0 + 2pk) /n),
k=0,1,,n—1

Points wqg, w1, ,w,_1 lie on a circle of radius ¥r
and center O and constitute the vertices of a
regular polygon.

Quadratic Equation z 4+ pz 4+ ¢ = 0 has two
(complex) solutions

210 = (—p+\/p® —4q)/2



